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COMMERCE
(Honours Core/Regular)
Paper : COM-HC-4016/COM-RC-4026
( Cost Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese. .

1. Answer the following as directed :
1x10=10

o Sl wete MARET T fal ¢

(a) Cost accounting is a tool used by
management for

(Fill in the blank with appropriate word)

T A f2plsiead 2o SARpIEE AN TaTe
«fay iz |
(G X3 2eT 912 999 )
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(b) Aggregate of direct costs is referred to

(c)

SRR CO S

(Fill in the blank with appropriate word)

AT IR AN T & |
(GRS =T =T 12 77 7)

The difference between attendance time

and work time 1s known as

%ﬁﬁ‘zﬁ T W TG R ST maﬁfﬁs

I T T
(i) ‘motion and ratmg

ife wi% o=

(ii) time and work.
S ST T
(iii) motion and time

SIS == I

‘(iv) job and work

BIRIS SfI%e sf

(Select the correct answer)
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(d)

(e)

(9)

Abnormal loss of material is charged

‘to costing Profit and Loss Account.

(State whether the statement is true or
false)

AN SIS FoT Teoie TS oie-
@O fZolee Teee 4l 24|
(Gf&Chr 797 (& SP7ey fer3l)

Idle time arises only when workers are

paid on basis of wages payments.

 (Fill in the blank with appropriate word)

e fofes wge emi 3919 AW e
TS R = |

(GRG X T éﬁ‘ f;@‘f 1)
Variable cost per unit remains constant.
(State whether the statement is true or
false)
siRaeTNe A &fS (oNeEe AW B T AT

(Gfeehr 7oy @ &P forsl)

Contract costing is also known as
Hifsier Leslr TS Tl AT

(i) process costing

AfEFTTe Teofiv T fiﬂt"i
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(h)

i

(1) terminal costing

Tffefes Sesirm <5 Rofesl
(i) job costing

S Sestivm a7 Rpicet
(iv) batch costing

RS AT <7 Rbicet

(Select the correct answer)

(137 Sews e i)

In Jjob costing, the cost of an incomplete

job is termed as__
ST BeAH TS, TPl 5 s
S Jrel 2|
(Fill in the blank with appropriate word)
(G =723 T 2 979 77)
Overtime work is to be paid for at
the normal rate.

SR TR I A TR 7
oqni 90 27 |

(Fill in the blank with appropridte word)
(O 573 a7} 513 799 79
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0)

Answer the following questions :

What is notional profit ?

gRefefes e & 2

2x5=10

woTe MAERT ©es @1l ¢

(@)

(b)

(@)

(e)
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What is unit cost?

Callb R S & 2

. Write two benefits of time_and motion

study.
I SR 9IS SHENS 707 R i |

What is meant by semi-variable .

overhead ?

S-sAfEPTIe Goifew 5 e [ q@i 2

Write two features of contract costing.

Paifefes Terivm R 75! &R &

State the meaning of overtime. -

wfsle g 9 =4
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3. Answer any four of the following questions : - ‘-'

5x4=20
TS firal eI eI Bifhe eR fid g
(a) Mention five benefits of cost accounting.
GeAAl T ReIeRmeR Aty SR =

(b) From the following information, prepare
a cost sheet showing cost per unit and
profit for the month of January, 2024 :
woTo [l SR #1[1, &S (ailoT Sesiim 3
Sl IS 2024 =T o [ [ g
TeoA T D] 2O 9! ¢

- Raw materials consumed ¥ 80,000
G5l AT T
Direct wages ¥ 48,000

2RTF AGH

Machine hour worked 8,000 hours

s o A

Machine hour rate ¥ 4 per hour
TGS T3 AR I

Office overhead . 10% of works cost
SlfeRs Toifze -
Selling overhead per unit 715

Rexee 7 oS ¢ite
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Units produced 4,000 units -
1 Tesifre (oG
Units sold 3,600 units @ ¥ 50 each

3 [

(c) Following information, relating to a type
of raw material, is available: 3+2=5
WS Rl SAPTIR IF FE &1 AT 0o
TS 3
Annual demand 6400 units
Jif¥s sifzw
Unit cost gy 6
(oo T
Carrying cost 25% of unit cost
TGS A
Procurement cost ¥ 75 per order
IESRIE
Calculate EOQ and number of orders
per annum.

EOQ faie 391, w19i0e IS @7 Soeis F201
faiee 1 |
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(d) Explain briefly the needs of labour cost
control.

N T S ST PTR B0 0 <5
(e) Write five features of overhead cost.

Toifew aEE #icor @ B

() =~ Write five differences between job
costing and contract costing.
TSP A T I S Sl 2z
e #5601 21y B |

4. Answer any four of the following questions :
_ _ 10x4=40
wero i3l SRS Ricplear bifabre Tes 4 ¢

(a) Explain the factors to be considered
for installation of a costing system.
T T 211 2oV T (Fas Regpa 1
GAWETIZ 171 5|

(b) Explain ‘maximum level’, ‘minimum
level’ and ‘re-ordering level’ of materials
stock maintained in an organisation.

<! ATV AT Ngoem Freefivy G,

el |
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(c)

March 1
March 3
March 4
March 7

March 8

North-East Manufacturing Company uses
ru'bber, which is purchased according to
requirement, from the market. Following
purchases and issues were made during
the month of March, 2024 :

2B (IR RIS ees SR =9
TGN 7S] TR AE P TS| S5 e 2024
bR Wb W7o 9 T W [ieeng 2o 8

Opening stock 2000 kg @ 3 5 each
(ST G©)

Issued 1500 kg
(Rifen)

Purchased 4500kg @ ¥ 6 each
(=) ;

Issued 1600 kg
(Rfer) |

Return by production 100 kg
department

(Issued on March, 3)
Geoive [Relsi A (e

ERINCARIGERS)

March 15 :  Purchased 2400 units @ 6:50 each

March 18

(@) _
Return to supplier 200 units
(Purchased on March, 4)

(GEIENRIFIc Q)
(4 WES T F)
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March 24
March 26

March 27

March 31

(@)

Purchased 1,000 units @ ¥ 7 each

(&)
Issued 2100 units
(i)
Purchased 1200 units @ 37 S0 each
(&¥3)
Issued 2800 units
(Rife)

From the above information prepare
Storage Ledger by applying FIFO method.

@999 OUFTRS A9l FIFO *%fS esiE
AGAAT TG0 AT eiEs 541 |

What is meant by labour turnover ?
What would be possible effects of labour
turnover on - the cost of production ?

Explain 2+8 10

(e) .

_WWWI

Following are the information related

to earning of a worker for a week :

Tﬁmwmmm@‘wﬁ%ﬂw

. T8 Gt g

4 (Sem-4/CBC

Weekly working time

~ 5 48 hours
IAERE F5 g

S/HC 1/RC (cAcy/G 10
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Hourly wage rate T7:50
TGRY TF e I :
Rate per unit - 3300
2fS (o569 =9

Normal time taken 24 minutes
per unit

A% (5151 TeoAms TeiRe T

Normal output per week 120 units
A Felfie TLAmTE 29
Aétual output per week 150 units

| (oifS AU AFO BeoATE)

Calculate the earning of the worker for
a week under —

Tﬁm«maﬁwmﬂmmﬁﬁmq
e )
(1) straight price rate

e SET IO
(i) Halsay premium scheme

B RCEISIE S o R ()
(iii) Rowan premium scheme

@i eoif¥fRe b WS

2+4+4=10
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(9)

What is meant by machine hour rate ?
Mention the steps required to compute

machine hour rate.

g 79T 29 WA & I&t 2 AT Ty 2
Sl SRS AMCFSPTR S <1 |

A product passes through two processes.

The output of process I becomes the

input of process III and the output of

process II is transferred to warehouse.
The quantity of raw materials introduced
in to process I is 20,000 kg. The cost
and output data for the month of
January 2024, review as under :

<51 Berifrs A 70! Seol afdie s

AT 27 | AT T elfFT oy s <
Al A ST AT eiferre kot st
fooIce 592 2 Wi S e vesfre

AN 219 TGS ST FHIH ) 7| olaw

afeitere (61 e o 20,000 IETG A
B2 ] s s e | A6 W% Tespiwg o2
eTe 2024 < GRS MR ofy (eI 2 8
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2+8=10
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|

Direct materials

Direct labour

4o &

Production overhead

Beoli TAifee 9

Normal loss
Fe}E Flo

Output
GeA

Loss realisation

o7

Process I

¥ 60,000

% 40,000

T 39,000

8%

18,000 kg

Process II

.¥ 40,000

¥ 30,000

T 40,250

5%

17,400 kg

¥ 2 per unit ¥ 3 per unit

The company fixes selling price on end
product at a margine of 20% on cost. Prepare
the Process Account and determine the

selling price per unit.
I 20% &S BT IR €= faid T
R 57 el AT @S 470 0 | e ot
ol <N Felrs A (o] Red To a9
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(h) Following are the summary of
transactions obtained from the costing
records of Sri Ram India Limited :

wore A (e FREes Tesilm 8 1T
EREPTRE [RECH 2l 92y faal 2= ¢
Purchase ¥ 2,00,000
&
Production wages paid ¥ 70,000
TeoAvd G| emis
Stock issued to production order T 80,000
TeAWT @ AN [l
Works expenses charged
to production ¥ 45,000
SR TeoAWTR [{ASIS
Finished goods transferred
from production orders ¥ 2,22.000
ol SIGIRe #=1 I AT Firag '
Administrative expense charged _
to production T 15,000
TeriieR ReRITS I R e
Work expenses outstanding % 12.100

SeTE s A5
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Work expenses paid ¥ 25,000

5 T A

Pass Journal entries for the above
transaction under integral system of

accounting.
@R (TR TRES [RB17FE 2 o® Sieml
q2e fErfoRm 4|

12000
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